
Mechanical Spring Stylish
Monitor Mount

GA2000

INSTALLATION MANUAL

75x75
100x100

1.5~8kg
3.3~17.6lbs

32"

6 8

7

+90°

-45°

±180°

±90°

±180°

±180°

Q P



4

3a

3b

5

2a-3 2a-4

2b-1

B (x1) C (x1) I (x1) J (x6)

4mm (x1)
P

5mm (x1)
Q

M4x12 (x4)
M-A

M4x16 (x4)
M-B

M6x12 (x4)
M-C

M6x16 (x4)
M-D

D6 (x4)
M-E

D (x1) E (x1)

M-F (x4)A (x1)

F (x1) G (x1) H (x1)

2b-21

2a-1

K (x1) L (x1) M (x1) N (x1) O (x1) 6mm (x1)
R

I

K

H

P J

A

L

M

N

O

Q

p

J

2a-2a 2a-2b

10
-5

5m
m

50
-8

5m
m

D

P J

D

E

C

B
M-A
M-C

M-E

R

M-B
M-D

M-E

M-F

R

WARNING
Please DO NOT turn the
screw counterclockwise.

R

R

B

G

J

F
P

A


